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Identify the correct spelling:

(=) Equilibrium (%) Equalbrium

(%) Equilebrium (9) Equalibrium
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‘Open the door’ (Make it passive)

(=) Let the door be opened

(%) Let the door opened

(1) Let the door open

(9) The door is opened
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Call name indicates —

() Calling (%) Speaking
(#1) Rebuking (%) Calling Bell
Forgery (%< i< “fqera 572
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The Poet of Beauty is-

(F) Milton (%) Eliot

(ef) Wordsworth (9) Keats

‘I will do it tomorrow’-@ 5 Tommorrow (&

Parts of Speech?

() Adverb (<) Adjective
(%) Noun (9) Verb
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Either he or his friends —— done it.
(F) is (%) are

(71) has () have

(F) @1 (=) =

(o) wifS (q) EICETeT
He was dressed —— a black suit.
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Bangladesh was in 1971.

() Liberated (<) Liberate
(1) Liberating (9) Liberation
Time after twilight and before night

() Dawn -

() Moonlite (€) Midnight
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Have you ever been __ Dhaka?
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&5 Abstract Noun?

(¥) Humane (%) In human

() Humanity (%) Human

What kind of noun is ‘Infant’?

(F) Collective (¥) Material

(41) Proper () Common

TR 7B IPCC @7 7t w52

(¥) International Panel on Climate Change

(?1) Intragovernmental Panel on Climate Change
(9) International Public Committee for Climate Change
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Which sentence is correct?

() He needs not go _

(?1) He do not need to go () He does not need go
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An adverb does not modify?

(F) Verb (%) Adverb

- (9) Adjective
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The synonym of ‘Outset’ is-

(=) Beginning (<) Fall

(") Lost (9) Out Side
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Which Sentence is correct?

(¥) One of my friend been sick
(1) One of my friend is sick

(9) One of my friends are sick
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